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a—F i %8 () =i o i E (BLAL)
Y3002 =4 (M) 4 2, 527 1, 080 184 184 | B 4kg
Y3011 HAN (&) 5 2,970 594 594 594 | BN 5kg
39630 Ermo~Af Y 6 756 54 54 22 | BN 203
31900 X 1 454 324 324 324 | BN lkg
34300 72 3 535 36 36 36 BH 157
34308 AT 6 1, 004 32 32 32BN RIPN
34330 £/ 116 18,912 49 49 6| &M 58174
34460 I =k E 0 43 22 22 22| BN 2y s
34100 #A/K 42 4,199 32 17 11 &BW 2124
34500 E—~ o 11 3,024 281 270 270 | &7 11ke
34570 X7 U 4 1, 404 65 65 2| BM 26{H
Y3033 Z2HHAL 61 8,921 238 130 54| B 61kg
36200 EHE 60 3, 780 108 54 54| B 60kg
34930 LA 45 5, 009 65 27 9 BN 1497
34980 ~b & 2 475 59 59 59 | BN 8K
35940 AEVEIEAE 127 64, 771 540 518 486 | BN 127kg
34800 < 5 13 4,593 38 32 32 BN 131% v b
36340 B LNz HEIE 41 12, 436 378 378 54| BN . 4lkg
34600 LL&ESBBL 7 1,053 162 162 162 | B . Tkg
37600 Xk 9 A8 2 2,376 1,188 1,188 1,188 B 2kg
48000 F V2 85 11,772 756 756 540 | BN 171#
Y4010 /BNEFT VRN 34 7,992 594 594 324 BN 171#
Y4003 | =a— AT 7 2, 549 130 130 76| B 231
49470 Ry vz T —Y 55 33, 752 97 39 38| & 5521
71010 K35 5,778 49 43 43| B 13074
721011 A7 L —% 54, 767 32 22 8 BN 2, 9804
71150 LIE 1,307 119 119 119 B 113K
53101 1ELKIR 3 3,208 1,188 1,188 1,188 BN 3kg
30300 A% 30 4, 860 1,620 1,620 1,620 #H#¢ 34—
31200 (LEE 4 4,536  4,536| 4,536 4,536 ER 17 —2
31200 (Lif3E 4 1,728 86 86 86 I 2048
33810 HHEK 4 1,512 76 76 76 IR 204%
37440 Db 2 896 896 896 896 |FEIZ 17 —2
Y5005 £ 7K3E A 5 1, 566 1,566 1, 566 1, 566 | K4y 1 —2
31700 F ¥y 60 7,344 1,296 1,188 1,188 | BEE 67— A
31730 U —vEK—n 30 2, 592 864 864 864 | B 34— 2
31800 1ZHINAE 4 3, 024 151 151 151 B I 2048
31950 HiX 18 648 108 108 108 | 1 [E] 64 — %
31950 EAX 21 2, 268 324 324 324 | K4y T —2
31900 r X 10 3,348 216 162 162 |FEIR B 203 (500g)
32800 25 5 1,080 22 22 22 |\ 'E I 503




& i w=H
e k| PERR (kg) %8 (1) =i i SN PE i (BAL)
g 25| 5, 400 1, 080 1, 080 1, 080 | HEAS 54— A
F~ k 40 14,040 |  1,404| 1,404 1,404 | k% 1047 — %
Rk ’ M 12 4,860 1,620| 1,620 1,620 ERE 3hr—2
R=bEL M 2 1,555 130 130 130 | gEA 12/%2 7
DN 5 270 11 11 11 ERE 2518
10 10 864 86 86 86 | FEIR S 10kg
R7Y A 3 1, 469 86 86 86 | LIRS 1748
HenE 2 L 50 17, 280 3, 456 3, 456 3, 456 | Rl 54— A
FERE IRER 60 6,048| 2,160 1,944 1,944 | 3r—=
|TmEnE L 80 12, 096 3,024 3, 024 3,024 L 445 — A
Lxon 2L 8 2, 592 1,296 1,296 1,296 F[E 24— A
e L H R L 9 3 1 1 1 E% 34 —2
LY — 1 108 108 108 108 | E & 1A
) 1 54 11 11 11 £ 54%
Toyal— 5 2, 462 167 167 140 | dbiEE 16
E LW B L 8 3,024 54 32 32 =k 80/ 7
2 ‘ B 27 756 324 216 216 | ERE 3/ —2
MR 16 3, 024 43 43 32 | & [ 8048
BT 2 108 5 5| 5 | a 203K
BRIE 1 918 270 162 162 | K%y 5/%5 7
ZDEH 5 2, 052 2, 052 2, 052 2,052 | F ik 14—
SR LOUE 3 3,078 103 103 103 | & A 304%
FINE 2 1, 361 65 65 65 | K Ik 214%
INTT AT 12 5, 832 1, 944 1, 944 1,944 IR B 3T =R
INTT AFDN A 2 L 10 4, 266 2,160 2,160 2,106 | IR 27—
INTT I In A 4S 10 3, 888 1,944 1,944 1,944 #4748 24— A
LE 15 10,584 | 10,584 10,584 10,584 |7 A UH 14 —=R
Yafa— R 20 12, 636 6, 480 6, 480 6, 156 | 52 25—
5ED 2 540 108 108 108 AFa 58y 7
TN—_Y — 1 1,037 173 173 173 [R5 6,5 7
b ' 4 2,592 216 216 216 HE C 128y Y
HhH 2 724 162 162 19 |EIRE 53y 7
FUhe 3L 48 5,184 648 648 648 | FE IR By 81
RS 36 11, 664 3, 888 3, 888 3,888 74 Uy 34 —%
WH L . 0 54 54 54 54 | HE 1%y
WA (o) 100 24,559 | 2,668 2,408 2,408 W 104 — %
R (B5h) 70 16, 157 165 165 147 IR E 1003y 7
KRR 160 28, 805 1, 800 1, 800 1,800 |FEIR 164%
' - BE - 1,802 507,713
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